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00O  Program List

0000000000000 0000000 [7J000000000000000000000A00D0,00000000
000 (1)prolate O (2)oblate 0 (3) 0000 000000000 BO0O0O0000000000000000 (1)prolate
O (2)oblate 0 (3) 0000 DOO0DDO0ODO

ADooooo

(Dprolate 000000 R30000 11 ~10000000000000000O0OO

(2)oblate 00D O0OD R, 0DO0ODO 0.01~09900000000000000000

(3) 0000000000 ROOOD 3.01~399R, 0000 201 ~29900000000000000000

BOOOOOO

oooo (x,y,2) 0000000 (a,b,c) 000000000 OOOOOOOOO

ea

(17 0’ 0)
eb = (0,cos0,—sinb)
(0,sin 6, cos 0)

€c

(1)prolate 000000 ec, =cosf® =0.9962000 ¢=5°000000000000
(2)oblate 000000 eb, = —sinf =—-0.0872000 ¢ =5°000000000000
(3) 00000000000 ec, =cosf=-0.9962000 #=5°000000000000

/*
kaiten7 (c&d&e) .c
*/

#include <stdio.h>
#include <math.h>

/*method = 0 : Euler method, 1 : 4th-order Runge-Kutta method */
#define METHOD 1

typedef struct { double x; double y; double z; } Lvec; /* vector in L-frame */
typedef struct { double a; double b; double c; } Bvec; /* vector in B-frame */
typedef struct { double x; double y; double z; double a; double b; double c; }

LBvec; /* vector whose components both in L- and B-frames are necessary */

int forces(Lvec *rc, Lvec *vc, Bvec *omg, Lvec *ea, Lvec *eb, Lvec *ec,

Lvec *frc, LBvec *trq);
int normal_point(Bvec *n, Bvec *tp);
/*void initl(Lvec *ea, Lvec *eb, Lvec *ec, Bvec *omg0O, Lvec *rc, Lvec *vc);*/
void init2(Lvec *ea, Lvec *eb, Lvec *ec, Bvec *omgO, Lvec *rc, Lvec *vc);
const double pi = 3.141592653589793;

main(){
kaiten5Q);

Bvec R; /* radius in the principal axes */

double mass; /* total mass of the rigid body */
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double volume; /* volume of the rigid body */

const double g_gravity = 980.0; /* gravitational acceleration [cm/s"2] */
int kaiten5(){
Bvec radius_ratio ; /* relative lengths of principal axes */

double R00=2.0 ;
double density=1;

/* radius for shperical shape [cm] */
/* density [g/cm~3] */

Lvec ea /*= { 0.0, 0.0,-1.0}*/ ; /* unit vector for a-axis of B-frame */
Lvec eb /*= {-1.0, 0.0, 0.0}*/ ; /* unit vector for b-axis of B-frame */
Lvec ec /*= { 0.0, 1.0, 0.0}*/ ; /* unit vector for c-axis of B-frame */
double dt;

/*double max_t=30.0;%/
double max_itime=300000;

/* time step size [sec] */

/* the number of time steps */

int mprint=100; /* period to print the mechanical state */
Bvec moi; /* moment of inertia */

Bvec omg0; /* initial angular velocity vector, B-frame */
Bvec omg; /* angular velocity vector, B-frame */

double omgsize;

double omg_gosa;

Bvec omgm; /* for Runge Kutta */

double RO ;

double t,fct;

double minimum_height ;

double eng_tot, eng_rot, eng_tra, eng_gra;

Lvec rc ; /* center of mass coordinate, =(0,0,0) in B-frame */

Lvec vc ; /* velocity of center of mass, =(0,0,0) in B-frame */

Bvec tp ; /* tangential point */
Lvec dtp ; /* displacement from center of mass to tangential point */
Lvec vtp ; /* velocity of tangential point */
Lvec evtp ; /* unit vector parallel to velocity of tangential point */
Lvec frc ; /* total force */

LBvec trq ; /* Toruque as for center of mass */

double d_eng_tot;

double d_omgsize;

double f1,f2,f3,fnl,fn2,fn3;

Lvec eam, ebm, ecm; /* for Runge Kutta */

Lvec rcm,vcm; /* for Runge Kutta */

double eldx,eldy,eldz, e2dx,e2dy,e2dz, e3dx,e3dy,e3dz;
double kx,ky,kz, kax,kay,kaz, kbx,kby,kbz, kcx,kcy,kcz;

double krx,kry,krz, kvx,kvy,kvz;

double
double
double
double
double
double

int itime;

kix ,kly ,klz ,
klax,klay,klaz,
kibx,klby,kilbz,
kilcx,klcy,klcz,
kirx,kiry,kirz,
kivx,klvy,klvz,

k2x ,k2y ,k2z ,
k2ax,k2ay, k2az,
k2bx,k2by, k2bz,
k2cx,k2cy,k2cz,
k2rx,k2ry,k2rz,
k2vx,k2vy,k2vz,

k3x ,k3y ,k3z ,
k3ax,k3ay,k3az,
k3bx,k3by, k3bz,
k3cx,k3cy,k3cz,
k3rx,k3ry,k3rz,
k3vx,k3vy,k3vz,

/* counter of time step, taking 0..max_

double Jellett; /* Jellett constant */
Bvec mez;
FILE *log_resl; /* output for detailed graphs */

FILE
FILE
FILE
FILE

*log_res3;

*log_resd;

/* output for check */

xlog_res2; /* output for detailed graphs */
*log_chkl;
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k4x ,kdy ,kédz ;
k4ax,kday, k4az;
k4bx,k4by,k4bz;
kdcx,kdcy,kédcz;
kdrx,kdry,kdrz;
ké4vx,kdvy,kdvz;

itime */



1

(2)

(3

FILE *log_res5;

FILE *log_res6;

FILE *log_res7;

Lvec angmom; /* angular momentum in L-frame */

double angmomsize;

double F1,F2,F3;

int k;

/* log_resl = NULL;*/  log_resl=fopen("kaiten.gl","w");

/* log_res2 = NULL;*/  log_res2=fopen("kaiten.g2","w");
log_chkl = NULL; /*log_chkl=fopen("kaiten.chk","w");*/

/* log_res3 = NULL; */ log_res3=fopen("kaiten.g3","w");

/* log_res4 = NULL; */ log_res4=fopen("kaiten.gd","u");

/* log_res7 = NULL */ log_res7=fopen("kaiten.g7","u");

fprintf (stderr,"check : pi = %20.16f\n",pi);

for (k=1;k<=90;k++){
radius_ratio.c=1+k*0.1;

radius_ratio.a=1.0;
radius_ratio.b=1.0;

for (k=1;k<=99;k++){

radius_ratio.b=k*0.01;
radius_ratio.a=1.0; A

radius_ratio.c=1.0;

for (k=1;k<=99;k++){

radius_ratio.a=3.0+(0.01%k);
radius_ratio.b=3.0-(0.01%k);
radius_ratio.c=4.0;

fprintf (stderr,"radius ratio = 1:1:? ",radius_ratio.a,radius_ratio.b,radius_ratio.c);

RO=R00/pow(radius_ratio.a*radius_ratio.b*radius_ratio.c,1.0/3.0);
R.a=RO*radius_ratio.a; R.b=RO*radius_ratio.b; R.c=RO*radius_ratio.c;
if(R.a < R.b) minimum_height=R.a; else minimum_height = R.b;

if (R.c < minimum_height) minimum_height = R.c;

fprintf (stderr,"R=(%f %f %f) min=Y%f\n",R.a,R.b,R.c,minimum_height);

volume=4*pi*R.a*R.b*R.c/3; /* volume of the rigid body [cm~3] */
mass=density*volume;

fprintf (stderr, "volume=Y,f density=/f mass=/,f\n",volume,density,mass);
moi.a=mass*(R.b*R.b+R.c*R.c)/5; /* moment inertia [g cm™2] */
moi.b=mass*(R.c*R.c+R.a*R.a)/5;

moi.c=mass*(R.a*R.a+R.b*R.b)/5;

fprintf (stderr,"MOI=(%f %f %f)\n",moi.a,moi.b,moi.c);
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f1=(moi.b-moi.c)/moi.a; f2=(moi.c-moi.a)/moi.b; f3=(moi.a-moi.b)/moi.c;

fni=1/moi.a; fn2=1/moi.b; fn3=1/moi.c;

dt=1.0e-6;

// fprintf(stderr,"input dt=");

// scanf("}1f",&dt);

fprintf (stderr,"check dt=Je\n",dt);

max_itime=3/dt;
mprint=0.001/dt; if(mprint<1) mprint++;

fprintf (stderr, "max_itime=%f mprint=/d\n",max_itime,mprint);

/*init1(&ea, &eb, &ec, &omgl, &rc ,&vc);*/
init2(&ea, &eb, &ec, &omgld, &rc ,&vc);

fprintf (stderr,"rc.z=%f\n",rc.z);

fprintf (stderr,"%s\n ec - (ea x eb) =(%e %e %e)\n"
,"check of right-handedness of vectors {ea,eb,ec}:"
,ec.x — (ea.y*eb.z-ea.z*eb.y)

,ec.y — (ea.z*eb.x-ea.x*eb.z)

,ec.z - (ea.x*eb.y-ea.y*eb.x));

omg.a=omg0.a; omg.b=omg0.b; omg.c=omg0l.c;

for(itime=0;;itime++){ t=itimexdt;

angmom.X=moi.a*omg.a*ea.x + moi.b*omg.b*eb.x + moi.c*omg.c*ec.x ;
angmom.y=moi.a*omg.a*ea.y + moi.b*omg.b*eb.y + moi.c*omg.c*ec.y ;
angmom.z=moi.a*omg.a*ea.z + moi.b*omg.b*eb.z + moi.c*omg.c*ec.z ;
angmomsize=sqrt (angmom.x*angmom.x + angmom.y*angmom.y + angmom.z*angmom.z) ;

omgsize = sqrt(omg.a*omg.a + omg.b*omg.b + omg.c*omg.c);

eng_rot = (moi.a*omg.a*omg.a + moi.b*omg.b*omg.b + moi.c*omg.c*omg.c)*0.5 ;
eng_tra = (0.5%mass)*(vc.x*vc.Xx + VC.y*vVc.y + vc.z*vc.z) ;

eng_gra = (mass*g_gravity)*(rc.z-minimum_height) ;

eng_tot = eng_rot + eng_tra + eng_gra;

if (itime==0) fprintf(stderr,"eng_tot=Yf\n",eng_tot);

if (log_resl != NULL && itime % mprint == 0)

fprintf (log_resl,"f %f %f 4Wf 4Wf 4f %f %f Uf Uf W Uf Uf Uf Uf UE Uf UL Uf\n"
,t,omg.a,omg.b,omg.c,ea.x,ea.y,ea.z,eb.x,eb.y,eb.z,ec.x,ec.y,ec.z

,IC.X,rc.y,rc.z,vc.x,vc.y,vc.z);

d_eng_tot=eng_tot-2841751.291223551612347364;
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(1)  if(fabs(ec.z) > 0.8 || itime >= max_itime) {
fprintf(log_res7,")f %f\n", radius_ratio.c,t);
if(fabs(ec.z) > 0.8 ) {printf("OK ");}
else {printf("NG ");}
fprintf (stderr,"%f %f\n", radius_ratio.c,t);

(2) if(fabs(eb.z) < 0.1 || itime >= max_itime) {
fprintf(log_res7,"%f %f\n", radius_ratio.b,t);
if(fabs(eb.z) < 0.1 ) {printf("OK ");}
else {printf("NG ");}
fprintf (stderr,")f %f\n", radius_ratio.b,t);

(3) if (fabs(ec.z) < (-0.8) || itime >= max_itime) {
fprintf (log_res7,"%f %f\n", radius_ratio.b,t);
if (fabs(ec.z) < (-0.8) ) {printf("O0K ");}
else {printf("NG ");}
fprintf (stderr,"’f %f\n", radius_ratio.b,t);

break;

/*if (t==0.2) {
fprintf (stderr,"eng=/30.18f ,omega=/,f\n",eng_tot,omgsize);
fprintf(log_res3,"%30.18f %20.18f\n",dt,fabs(d_eng_tot));
fprintf (log_res4,"%30.18f %30.18f\n",dt,fabs(d_omgsize));
x/

/*jellett constant*/
mez.a=-ea.z; mez.b=-eb.z; mez.c=-ec.z;
/*fprintf (stderr,"mez(%f %f %f)\n",mez.a,mez.b,mez.c);*/
normal_point (&mez,&tp) ;
Jellett=-(moi.a*omg.a*tp.a + moi.b*omg.b*tp.b + moi.c*omg.c*tp.c);
if (itime/mprint==0) fprintf (log_res3,"%f %f\n",t,Jellett);
/*Gyroscopic balance*/
F1= moi.c * omg.c;
F2 = moi.a * ec.z*(ec.x*(omg.b*ea.y-omg.a*eb.y)-ec.y*(omg.b*ea.x-omg.a*eb.x))/(ec.x*ec.x+ec.y*ec.y );
F3=F1-F2;
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if (itime)mprint==0) fprintf (log_res4,")f %f %f\n",t,F1,F2);

/*if (itimemprint==0) fprintf(log_res4,"%f %f\n",t,fabs(F3));*/
/*if (itime)mprint==0) fprintf(log_res4,")f %f\n",t,fabs((2+F3)/(F1+F2))) ;*/

/*0mega Sizex/
if (t==0) fprintf(stderr,"init OMG=%f\n",omgsize);

/*if (t>2.4228) {fprintf(stderr,"omg=/%f\n",omgsize); break;}*/

if (log_chkl != NULL && itime % mprint == 0){

/*
fprintf (log_chkl,"%f %e %e %e %e %e %e\n",t,
ea.x*ea.x + ea.y*ea.y + ea.z*ea.z -1.0,
eb.x*eb.x + eb.y*eb.y + eb.z*eb.z -1.0,
ec.x*ec.x + ec.y*ec.y + ec.z*ec.z -1.0,
ea.x*eb.x + ea.y*eb.y + ea.z*eb.z ,
eb.x*ec.x + eb.y*ec.y + eb.z*ec.z s
ec.x*ea.Xx + ec.y*ea.y + ec.z*ea.z )

*/

fprintf (log_chkl,"%f %e\n",t,
fabs(ea.x*eb.x + ea.y*eb.y + ea.z*eb.z)
+fabs(eb.x*ec.x + eb.y*ec.y + eb.zxec.z)
+fabs(ec.x*ea.x + ec.y*ea.y + ec.z*ea.z)

N

if (itime >= max_itime) break;

forces(&rc, &vc, &omg, &ea, &eb, &ec, &frc, &trq);

if(log_res2 != NULL && itime % mprint == 0)

fprintf(log_res2,"Vf %t %t %hf %f %f % %f %f %E AE KE NEf KE % U U%f %E %f\n"
,t,angmom.x,angmom.y,angmom.z,angmomsize,omgsize
,eng_rot,eng_tra,eng_gra,eng_tot

,frc.x,frc.y,frc.z, trq.x,trq.y,trq.z, trq.a,trq.b,trq.c);

kix=dt*(f1*omg.b*omg.c+fnl*trqg.a);
kly=dt* (f2*omg.c*omg.a+fn2*trq.b) ;
klz=dt* (f3*omg.a*omg.b+fn3*trq.c) ;

klax=dt*(omg.c*eb.x-omg.b*ec.x) ;
klay=dt*(omg.c*eb.y-omg.b*ec.y);
klaz=dt*(omg.c*eb.z-omg.b*ec.z) ;

k1bx=dt*(omg.a*ec.x-omg.c*ea.x) ;
klby=dt* (omg.a*ec.y-omg.c*ea.y);
ki1bz=dt*(omg.a*ec.z-omg.c*ea.z) ;

klcx=dt*(omg.b*ea.x-omg.a*eb.x) ;
klcy=dt*(omg.b*ea.y-omg.a*eb.y);
klcz=dt*(omg.b*ea.z-omg.a*eb.z) ;

kilrx=dt*vc.x;
kilry=dt*vc.y;
klrz=dt*vc.z;

k1vx=(dt/mass) *frc.x;

kivy=(dt/mass)*frc.y;
k1vz=(dt/mass)*frc.z;
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omgm.a=omg.a+klx/2; omgm.b=omg.b+kly/2; omgm.c=omg.c+klz/2;

eam.x=ea.x+klax/2; eam

ebm.x=eb.x+klbx/2; e

ecm.x=ec.xtklc

rcm.x=rc.x+kirx/2;

vem. x=vc.x+k1vx/2;
/*  printf ("4E Uf
forces(&rcm, &vcm,
k2x=dt* (f1*omgm.b*omgm.c+fnl*trq.

k2y=dt* (f2*omgm. cxomgm.a+fn2*trq.
k2z=dt* (f3*omgm.a*omgm.b+fn3*trq.

k2ax=dt* (omgm.
k2ay=dt* (omgm.
k2az=dt* (omgm.

k2bx=dt* (omgm.
k2by=dt* (omgm.
k2bz=dt* (omgm.

k2cx=dt* (omgm.
k2cy=dt* (omgm.
k2cz=dt* (omgm.

k2rx=dt*vcm.Xx;
k2ry=dt*vcm.y;

k2rz=dt*vcm.z;

x/2; e

c*ebm
ckxebm.

cxebm.

axecm
axecm.

a*ecm.

b*eam
b*eam.

b*eam.

.y=ea.ytklay/2; eam.z=ea.ztklaz/2;

bm.y=eb.y+klby/2; ebm.z=eb.z+k1bz/2;
.y+klcy/2; ecm.z=ec.z+klcz/2;

cm.y=ec

rcm.y=rc

vcm.y=vc

.X-omgm.

y-omgm.
z-omgm.

.X-omgm.

y-omgm.
z-omgm.

.X-omgm.

y-omgm.
z-omgm.

k2vx=(dt/mass) *frc.x;
k2vy=(dt/mass)*frc.y;
k2vz=(dt/mass) *frc.z;

.y+kiry/2; rcm.z=rc.z+klrz/2;

.y+tklvy/2; vem.z=vc.zt+klvz/2;

b*ecm.
b*xecm.

b*ecm.

c*keam

ckeam.

c*eam.

axebm.
axebm.

axebm.

a);
b);

c);

x);

y);

z);

LX)

y);

z);

x);

y);

z);

%t hf\n",vc.z,frc.z,klvz,vcm.z) ;*/

&omgm, &eam, &ebm, &ecm, &frc, &trq);

omgm.a=omg.a+k2x/2; omgm.b=omg.b+k2y/2; omgm.c=omg.c+k2z/2;

eam.x=ea.x+k2ax/2; eam
ebm.x=eb.x+k2bx/2; ebm
ecm.x=ec.x+k2cx/2; ecm
rcm.x=rc.x+k2rx/2; rcm

vem. x=ve.x+k2vx/2; vem
/*  printf("%f %f %f %f %f %f\n",rcm.
forces(&rcm, &vcm, &omgm, &eam, &ebm,
k3x=dt* (f1*omgm.b*omgm.c+fni*trq.

k3y=dt* (f2*omgm.c*omgm.a+fn2*trq.
k3z=dt* (£3*omgm.a*omgm.b+fn3*trq.

k3ax=dt* (omgm.c*ebm.x-omgm.

k3ay=dt* (omgm.
k3az=dt* (omgm.

k3bx=dt* (omgm.
k3by=dt* (omgm.
k3bz=dt* (omgm.

k3cx=dt* (omgm.
k3cy=dt* (omgm.

c*ebm.
c*ebm.

axecm.
axecm
axecm.

b*eam.

b*eam.

y-omgm.
z-omgm.

X-omgm.

.y-omgm.

z-omgm.

X-omgm.
y-omgm.

.y=ec
.y=rc
.y=vc

b*ecm.
b*ecm.
b*ecm.

c*eam.
c*eam.

c*keam.

axebm.

axebm.

a);
b);

c);

x);
y)s;
z);

x);
y);
z);

x);

y);

.y=ea.y+k2ay/2; eam.z=ea.z+tk2az/2;
.y=eb.y+k2by/2;
.y+k2cy/2;
.ytk2ry/2;
.y+k2vy/2;

ebm.z=eb.z+k2bz/2;
ecm.z=ec.z+k2cz/2;
rcm.z=rc.z+k2rz/2;
vem. z=ve.z+k2vz/2;

z,k2rz,vc.z,frc.z,k2vz,vcm.z) ; */

&ecm, &frc, &trq);
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k3cz=dt* (omgm.b*eam.z-omgn.a*ebm.z) ;

k3rx=dt*vcm.x;
k3ry=dt*vcm.y;

k3rz=dt*vcm.z;

k3vx=(dt/mass) *frc.x;
k3vy=(dt/mass)*frc.y;
k3vz=(dt/mass) *frc.z;

omgm.a=omg.a+k3x; omgm.b=omg.b+k3y; omgm.c=omg.c+k3z;
eam.x=ea.x+k3ax; eam.y=ea.y+k3ay; eam.z=ea.z+k3az;
ebm.x=eb.x+k3bx; ebm.y=eb.y+k3by; ebm.z=eb.z+k3bz;
ecm.x=ec.x+k3cx; ecm.y=ec.y+k3cy; ecm.z=ec.z+k3cz;
rcm.x=rc.x+k3rx; rcm.y=rc.y+k3ry; rcm.z=rc.z+k3rz;
vem. x=ve.x+k3vx; vcm.y=vc.y+k3vy; vcm.z=vc.z+k3vz;

/* printf ("%f %f %f %f 4f %f\n",rcm.z,k3rz,vc.z,frc.z,k3vz,vcem.z) ;*/
forces(&rcm, &vcm, &omgm, &eam, &ebm, &ecm, &frc, &trq);

k4x=dt* (f1*omgm.b*omgm.c+fnl*trq.a);
k4y=dt* (f2*xomgm.c*omgm.a+fn2*trq.b);
k4z=dt* (£3*omgm.a*omgm.b+fn3*trq.c);

k4ax=dt* (omgm.c*ebm.x-omgm.b*ecm.x) ;
k4ay=dt* (omgm.c*ebm.y-omgm.b*ecm.y) ;
k4az=dt* (omgm.c*ebm.z-omgm.b*ecm.z) ;

k4bx=dt* (omgm.a*ecm.x-omgm. ckeam.Xx) ;
k4by=dt* (omgm.a*ecm.y-omgm. ckeam.y) ;
k4bz=dt* (omgm.a*ecm.z-omgm. ckeam.z) ;

k4cx=dt* (omgm.b*eam.x-omgm. a*ebm.x) ;
k4cy=dt* (omgm.b*eam.y-omgm.a*ebm.y) ;
ké4cz=dt* (omgm.b*eam.z-omgm.a*ebm.z) ;

kdrx=dt*vcm.x;
kdry=dt*vcm.y;
kdrz=dt*vcm.z;

k4vx=(dt/mass) *frc.x;
k4vy=(dt/mass)*frc.y;
k4vz=(dt/mass) *frc.z;

kx=(k1x+2* (k2x+k3x)+k4x)*(1.0/6.0) ;
ky=(k1y+2* (k2y+k3y)+k4y)*(1.0/6.0) ;
kz=(k1z+2* (k2z+k3z)+k4z)*(1.0/6.0);

kax=(klax+2*(k2ax+k3ax)+k4ax)*(1.0/6.0);
kay=(klay+2* (k2ay+k3ay)+k4ay)*(1.0/6.0);
kaz=(klaz+2* (k2az+k3az)+k4az)*(1.0/6.0) ;

kbx=(k1bx+2* (k2bx+k3bx)+k4bx) *(1.0/6.0) ;
kby= (k1by+2* (k2by+k3by) +kdby) * (1.0/6.0) ;
kbz=(k1bz+2* (k2bz+k3bz) +k4bz) *(1.0/6.0) ;

kex=(klcx+2* (k2cx+k3cx)+kdcx) *(1.0/6.0);

key=(klcy+2* (k2cy+k3cy)+kdcy)*(1.0/6.0) ;
kcz=(klcz+2* (k2cz+k3cz) +kdcz)*(1.0/6.0) ;
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int forces(Lvec *rc, Lvec *vc, Bvec *omg,

/%
us

*/

krx=(klrx+2* (k2rx+k3rx) +kdrx) * (1.
kry=(kilry+2* (k2ry+k3ry)+kdry) * (1.
krz=(kilrz+2* (k2rz+k3rz)+kdrz) * (1.

kvx=(klvx+2* (k2vx+k3vx)+kdvx) * (1.
kvy=(klvy+2* (k2vy+k3vy) +kdvy) * (1.

kvz=(klvz+2* (k2vz+k3vz) +kdvz) * (1.

/* printf ("%f %f %f %f\n",krz,frc.

omg.a=omg.a+kx;
omg.b=omg.b+ky;

omg.c=omg.c+kz;

ea.x=ea.x+kax;
ea.y=ea.y+kay;

ea.z=ea.ztkaz;

eb.x=eb.x+kbx;
eb.y=eb.y+kby;
eb.z=eb.z+kbz;

ec.x=ec.x+kcx;
ec.y=ec.y+kcy;

ec.z=ec.ztkcz;

rc.x=rc.x+krx;
rc.y=rc.y+kry;

rc.z=rc.z+krz;

vVC.X=vC.X+kvXx;
vc.y=vc.y+kvy;

vc.z=vc.z+tkvz;

0/6.
0/6.
0/86.

0/6.
0/6.
0/6.

0);
0);
0);

0);
0);
0);

z,k4vz,kvz) ; %/

fct=1/sqrt(ea.x*ea.x+tea.y*ea.y+tea.z*ea.z);

ea.x=fct*ea.x;ea.y=fct*ea.y;ea.z=fct*ea.z;
fct=1/sqrt(eb.x*eb.x+eb.y*eb.y+eb.z*eb.z) ;
eb.x=fct*eb.x;eb.y=fct*eb.y;eb.z=fct*eb.z;

fct=1/sqrt(ec.x*ec.x+tec.y*ec.y+tec.z*ec.z);

ec.x=fct*ec.x;ec.y=fct*xec.y;ec.z=fct*ec.z;

}

if (log_resl != NULL) fclose(log_resl);
if (log_res2 != NULL) fclose(log_res2);
if (log_chkl != NULL) fclose(log_chkl);

Lvec *frc, LBvec *trq) {

es global variables : mass, g_gravity,

const double mu_friction = 0.5 ;
const double tspeed0 = 1.0e-3 ;

const double d_fr = 0.05; /* [cm] */

Lvec *ea, Lvec *eb, Lvec x*ec,

Lvec omglL ; /* angular velocity vector in L-frame */

Bvec tp ; /* tangent point in B-frame */

Bvec mez ; /* unit vector parallel to the gravity */
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/%

*/

/%

*/
/%

*/

Lvec dtp ; /* displacement from center of rotor to tangent point */
Lvec vtp ; /* velocity of tangent point */

Lvec frctp ; /* force operating at the tangent point */

double htp ; /* height of tangent point */

double fr ; /* normal reaction force */

double ff ; /* tangential friction force */

double tspeed ; /* tangential speed */

double fct,tl ;

double mufrict ; /* friction coefficient mu */

omgL.x = omg->ak*ea->x + omg->b*eb->x + omg->c*ec->x ;
omgL.y = omg->akea->y + omg->b*eb->y + omg->cxec->y ;
omgL.z = omg->a*ea->z + omg->b*eb->z + omg->c*ec->z ;
/*fprintf (stderr, "omgL.z=Yf\n",omgL.z) ;*/

mez.a = - ea->z ; mez.b = - eb->z ; mez.c = - ec->z ;

normal_point (&mez, &tp);

dtp.x = tp.a*ea->x + tp.b*eb->x + tp.c*ec—>x ;
dtp.y = tp.a*ea->y + tp.b*eb->y + tp.c*ec->y ;
dtp.z = tp.ak*ea->z + tp.b*eb->z + tp.ck*ec->z ;

vtp.x = vc->x + omgL.y * dtp.z - omgL.z * dtp.y ;
vtp.y = vc->y + omgL.z * dtp.x - omgL.x * dtp.z ;
vtp.z = vc->z + omgL.x * dtp.y - omgL.y * dtp.x ;

printf ("%f %f %f %f %hf %f\n",vc->x,vc->y,vc->z,vtp.X,vtp.y,vtp.z);

htp = rc->z + dtp.z ;

t1=htp*(1.0/d_fr); if(t1l < -5.0) t1=-5.0;

fr = (mass*g_gravity)*exp(-t1*(1.0+0.1%t1))
* (1- 0.1xtanh(vc->z * (1.0/15.0)));

t1=htp*(1.0/d_fr); if(tl < -4.6) t1=-4.6;
fr = (mass*g_gravity)*exp(-t1);

printf ("%t %f %f %4f %f\n",rc->z, dtp.z, htp, tl, fr); if(1) exit(1l);

tspeed = sqrt(vtp.x * vtp.x + vtp.y * vtp.y);
mufrict = mu_friction * tanh(tspeed * (1.0/tspeed0));
ff = fr * mufrict ;

if (tspeed > 1.0e-32) fct = - ff / tspeed ; else fct = 0.0;
frctp.x = fct* vtp.x ;
frctp.y = fctx vtp.y ;

frctp.z fr ;

frc->x = frctp.

]

frc->y = frctp.y ;
frc->z = frctp.z - mass * g_gravity ;

trq->x = dtp.y * frctp.z - dtp.z * frctp.y ;
trq->y = dtp.z * frctp.x - dtp.x * frctp.z ;
trq->z = dtp.x * frctp.y - dtp.y * frctp.x ;

trq->a = trq->x * ea->x + trq->y * ea->y + trq->z * ea->z ;
trq->b = trq->x * eb->x + trq->y * eb->y + trq->z * eb->z ;
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trq->c = trq->x * ec->x + trq->y * ec->y + trq->z * ec->z ;

/* printf("%f %f %f %f %f Y%f F\n",rc->z,dtp.z,htp,vc->z,fr,frc->z);*/

/%

printf ("%f %f %f Af %f Yf %f\n",mufrict,fr,ff,frctp.x,frctp.y,frctp.z,frc->z);

if (1) exit(1);
*/

return O;

int normal_point(Bvec #*n, Bvec *tp){
/%
For ellipsoid.
uses global variables : Bvec R
*/
double fct;
tp->a=R.a*R.a*n->a; tp->b=R.b*R.b*n->b; tp->c=R.c*R.c*n->c;
fct = 1.0/sqrt(tp->a*n->a + tp->b*n->b + tp->c*n->c) ;
tp->a = tp->axfct;
tp->b = tp->b*fct;
tp->c = tp->cx*fct;

/%
printf("%f %f %f\n",R.a,R.b,R.c);
printf ("%f %f %f\n",n->a,n->b,n->c);
printf ("%f %f %f\n",tp->a,tp->b,tp->c);
if (1) exit(1);

*/

return 0O;

/*

If call the initl , rc and vc are necessary to establish the initial value
*/
/%

void initl(Lvec *ea, Lvec *eb, Lvec *ec, Bvec *omgO, Lvec *rc, Lvec *vc){

double b;
Bvec angular_velocity_ratio = {-1.0, 0.0, -0.01};
double angular_velocity = 100%*pi;

ea->x=0.0; ea->y=0.0; ea—->z=-1.0;
eb->x=-1.0; eb->y=0.0; eb->z=0.0;
ec->x=0.0; ec->y=1.0; ec->z=0.0;

b=1/sqrt (angular_velocity_ratio.a*angular_velocity_ratio.a
+angular_velocity_ratio.b*angular_velocity_ratio.b

+angular_velocity_ratio.c*angular_velocity_ratio.c);
omgO->a=angular_velocity*angular_velocity_ratio.a*b;
omgO->b=angular_velocity*angular_velocity_ratio.bx*b;

omgO->c=angular_velocity*angular_velocity_ratio.cx*b;

rc->x=0; rc->y=0; rc->z=R.a;

ve->x=0; vc->y=0; vc->z=0;
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*/
void init2(Lvec *ea, Lvec *eb, Lvec *ec, Bvec *omgO, Lvec *rc, Lvec *vc){

double b;
double theta=(89.3/90.0)*0.5%pi;
Bvec angular_velocity_ratio = {0.0, -sin(theta), cos(theta)};

/*relative size of body-frame components of initial angular velocity */

Bvec n ={0.0, sin(theta), -cos(theta)};
Bvec tp;
double angular_velocity = 100*pi; /*size fo initial ang. vel.[radian/sec]*/

ea->x=1.0; ea->y=0.0; ea->z=0.0;
eb->x=0.0; eb->y=cos(theta); eb->z=-sin(theta);
ec->x=0.0; ec->y=sin(theta); ec->z=cos(theta);

b=1/sqrt (angular_velocity_ratio.a*angular_velocity_ratio.a
+angular_velocity_ratio.b*angular_velocity_ratio.b
+angular_velocity_ratio.c*angular_velocity_ratio.c);

omgO->a=angular_velocity*angular_velocity_ratio.a*b;
omgO->b=angular_velocity*angular_velocity_ratio.bx*b;
omgO->c=angular_velocity*angular_velocity_ratio.cx*b;
normal_point(&n, &tp);

rc->x=0; rc->y=0; rc->z=n.a*tp.a + n.b*tp.b + n.c*tp.c;

ve->x=0; vc->y=0; vc->z=0;
fprintf (stderr,"%f, %L, %E, %E,%E,%f\n" ,tp.a,tp.b,tp.c,omg0->a,omg0->b,omg0->c) ;
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